Algebra RH

Simplifying Exponential Expressions Practice

Do Now: Simplify each expression. The simplified expression should not contain any negative exponents.
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Here are the rules we know....

* Zero Power and Negative Exponents: a®=1,a #0
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» Product of Powers Property: d" e d'=d"""
e Power of a Power Property: (d™)"=a™" b

* Power of a Product Property: (a « b)" = g™ p™
* Quotient of Powers Property: 3"— =d"" a#0
a

* Power of Quotient Property: (%] = :—m 2 b# 0%

Now it’s time to ... SIMPLIFY!
The simplified expression should not contain any negative exponents.
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